fraction/bin

Ratio to ATLAS

13000 pp Jets

6 H— 1 T 11 | | I I I T TTTIT | I I I T TTTIT | I I T |'|—|—| ﬂ
- — =
. o
- Momentum fraction z(ATLAS jet fragmentation) 13
B =
" m ATLAS B
S = Pythia6.428 350 10
-4~ Pythia 6.428 351 45
— - ¥ Pythia 6.428 352 -
4 [ - Pythia 6.428 353 2
—  --0O-- Pythia 6.428 354 s

— % - Pythia 6.428 355 -

~ @ Pythia 6.428 356 i
31— Pythia 6.428 357 1
- Pythia 6.428 358 -5
~ - Pythia6428358 A 1
B A’W.ﬂ L IR 18
— ’ _ |
2 4 LN N =
B S WA ks
B s,
i ﬁ\ s
RN c
1= LS BE
B L @
_ "B, 12
= h N 4o
R - E

n e lﬂ’ﬂ#ﬂ-g
2 —2

0.5 —0.5
1 1 1 1 1 1 11 | 1 1 1 1 1 1 11 | 1 1 1 1 1 1 11 | 1 1 1 1 1 1 11 |
10°° 1072 107 1



	Contents
	Page 1


